Integer division up to 100 #3

21) 1120 = 70
22) 4830 + 61

2325 + 31

3690 = 48

23) 4680 = 78

600 <+ 75

24) 720 = 30

2380 = 34

25) 4900 =+ 70

5520 + 92

26) 1558 + 82

3050 = 61

27) 1320 + 20
28) 170 = 2

2430 + 30

4700 = 50

29) 2037 =+ 21

800 -+ 100

30) 3861 + 39

380 + 76

31) 4636 = 61

136 =4

32) 9200 + 92

4557 =93

33) 6862 + 94

2750 + 55

564 = 47 =

34
39

969 = 57

1728 + 64
36) 5hd4 + 56

2924 = 34

37) 3456 = 54

3078 + 81

38) 3060 + 45

3650 = 50

39) 2175 + 75

3900 = 75
20) 3828 + 44
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Integer division up to 100 #3 (Solutions)

2325 +31 =175 21) 112070 = 16
3696 +~48 =77 22) 4880 + 61 = 80
600 =75 =8 23) 4680 + 78 = 60
2380 =34 =70 24) 720 +30 =24
5520 + 92 = 60 25) 4900 +~ 70 =70
3050 + 61 = 50 26) 1558 +82 =19
2430 + 30 = 81 27) 1320 + 20 = 66
4700 + 50 = 94 28) 170 -2 =85
800 =+ 100 = 8 29) 2037 + 21 =97
380 +76 =5 30) 3861 <+ 39 =99
136 -4 =34 31) 4636+ 61 =176
4557 + 93 = 49 32) 9200 + 92 = 100
2750 + 55 = 50 33) 6862 +94 =173
969 + 57 = 17 34) 564 +47 =12
8 +5=17 35) 1728 + 64 = 27
2924 - 34 = 86 36) 5h44 + 56 =99
3078 =81 = 38 37) 3456 +~ 54 = 64
3650 +50 =173 38) 3060 + 45 = 68
3900 + 75 = 52 39) 2175+ 75 =29
3828 + 44 = 87 40) 140 +4=35



